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����������3
��������3���
9��!�	������6��3������������	�
��� ���	����� ��	�
���5��� ���	�	������ 3������� �	
���	� ���	��	��	��� �	� ��� �9���	
�� 
������	� ����������� ���5�
3��$��	;	
�$��������
������	������$	����	��	�����	��������$���	
�	���6����9�������������5����	�
53������������$���
������	�����������	����5���3��������53�����3$�	��	������	���������3����
�
9!���	$���	��� �9��� �
�� �	��5	��� ��38�������� �	
������	�� <�5�������������6� #��� �	��5	� ���<�
�
atam����3$�	���3����
��	�����	��������st seviyede ise �������������
���3�����seyahat süresi 
�	� 5������� <3�
��53������� 3������ ���9� <3�
��53������ 	� 
�9�
�	��	���	� 9������������6�
L!���� �9��� �	�8��	�� #��3��� #���������� �	
����7��	� (AAT=� <�5�������������6 A	��������	��
modelde ���� �	��5	�	� 3����������� �	����8�� $��� ���5�� �	� $��� 
������	� ��������� �������� $�����
olarak ���� �	��5	�	� ���<�
� ������ ��3$�	��� 9!���	�	
� ����;��	���� $�� ������ 3���� �	�
��	���
�	�	��	������������6�L���������>�3�R-F����������������
�������������6�'&��������	�IP�$������
3������ ������� ������� I� ��	�� 
����
� ���5����	� 3����
� 
�$��� 	������tir. >��5����	� 
����
�����
$�����an (P���	��$�����	�
������	���������������5�$������3����
��	9��������6 A	��������	���3�	��

����������
��	��$��� 3����� $���
������	� ����������	� ���5����������� 8!�	� ���<�
� ��������3$�	���
9!���	�	
� ����
�� �3����� seyahat süresi �	� 5������� <3�
��53�� �	�	����� en 
�9�
�	5	�� �����
$	����	�������6� >�5����� �58������ �3��;������ $��� 
������	� ��������� �	� ���5��� 3��������53���
��3$�	��	������ 	��������� 3����
� 9!�������� 8	��������	�� �3�	�� ��	� 5�����$��	;	��� 3���5��

3�������6�� 
 
Anahtar sözcükler: ����
������	���������@����5���3��������53��@�#��3���#���������� �	
����. 
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"��������� ��3$�	��	������ 3���
9�� 
������
� �	� $��93
� �����	��	5	� $����� 3������ �	�	��5�	�
9!����	� problemleri bir$�����	�� $�������� 3����
� 	�	� ����
� literatürde 
3��5��
� �9��������
93��� ������ tercih edilmektedir. #�;�
� $�� ������ $��$���� ��	� �9�	�� $����������� 3����
�����	��	�	���� �5��� 3����
� �	�	��	�������	��� ��������� 3���5�� 9�
����
�����6� ���� 
������	�
��������� �	� ���5��� 3��������53��� ��3$�	��	������ 8	�	���
�	� �5��� 3����
� �	�	��	�������	���
���	���	�� �3�����
��� �3��9������ 	��	� 	����	����� �3���������
�����6� >!�� 
3����� ��3$�	��	����
$��$���� ��	� 8!�� ����� 	���	�	5	;	
� �	�	;	�	� $���������� 3������ 3���
9�� �9�
���6� W	����8�� $���
�������������
��$��������
������	������������8�����	������	����������	��	�	��������$���
�������
durumunda dahi optimum s��5������	�	�������	����	���	��	�	��3��;�
���6�����	�	��	��	� iki 

���



��3$�	���� 	��������� 9!���� $���� $����� 3����
 3������� 
������	� ��������� �	� ���5���
sürelerinin belirlenmesi karar vericiler ����<������ 5������� �������������� $������ ��������
������;�
���. M��	������	� 
������	� ��������� ��3$�	������ 9!����� ���;�5��� 5������� 9����������
Abdulaal ve M	����;� -(HIH= ��	� $����������6� >3��������� >�N������
��� �	� ���6 -(H/I=� $���

������	� ��������� ��3$�	������ 9!����� ���;�5��� 5	��� $��� �	�8��	�� �	�3�� !�	����� �	� <��
���
������� ������� ��	����	� �	��� 	�������6� O��3�� -'))0=� ��3$�	���� 9!����� �9��� 	��� ��$�����
metotlar !�	����� �	� ������ ������� ��	����	� 8	��������	�� �	�3������ �	��� 	�������6� #5��;��
���33��33���N3�8� ve Wall	�� -'))P=� 9!���� �9��� �	�8��	�� �	�3����� !�	����� �	� �	�3�������
9!����	
��������:��	��	�������:���� 9��������� $	������������6 M���	����6�-')('=�$���
������	�
��������� �roblemini tek seviyeli problemler serisi �����	� �!���������� �	� 9!����	� 8�3$���
optimizasyon metodu��� !�	�������6� ���
��� -')(%�=� ������� ������ 	
�	�	ce
� $��������
$	����	��	����	�
������	����������3$�	��	����n 	����������3����
�9!�������8	�9	
�	���������	�
8	�9	
� ������ ���� ��	����	� �	��� 	�������6� ���
��� -')(%$=� �	� ���
��� -')(&=� $��� 
������	�
�����������3$�	������9!������	�A�8�
�
�����	�#��3���#������������	�8��	����83�������������
�	�<3������������ <��
��� ������� ������� ��	����	� �	��� 	����� �	� $�������� �3��9���� 	��	� 	�������6�
���	�� ����<���� literatürde sinyal optimizasyonu ��3$�	������ �5��� 3����
� �	�	��	�����������
9���������� 3���
9�� <�������6� ��� 
3����
�� ��
� 9������������� $���� #���3�� �	� O����	�N3����
-(HII=�����<������5���������	����5���3��������53�����3$�	������9!������9�� 
������
�����	����<�
5�
������ 
�������������6 W	5�	;ker ve ��33� -(HH)= ise sinyal optimizasyonu problemini 

������� 3��������53�� ��3$�	��� 3����
� 	�	� ��������6� ���8� �	 ��8��� -(HH0=� ise problemin 
9!������	���5������
���$�������83������
����������	��������������	����	��	���	�������6��	
���
�	� ���6� -'))I=� ���5��� 3��������53�� ��3$�	������ 9!������	� 8	�	��
� ��83������ �	
�������

��������� �	� 8	��������	�� ��83�����5�� 8	�9	
� ������� ���� ��	����	� �	��� 	�������6 �	��7G�;3� �	�
���6� -')(%=� ��3
����
� 
������;�� �	�8	��� �������� 3������� ���5��� ���	�	������ $	����	��	���
���;�5��� �
� �	��5	��� ��38�������� 5�
��������� !�	����� �	� #��3��� #����������� �	�8��	��
��83���������� 9!���� �9��� 
��������������6� >3�� ����������� G���� �	� ���6� -')(0=� koordine 
���5����	���������sinyal optimizasyonu problemini �3��<�5	��	
������	���!��	��	�5�
�������
������� 9!������	�$���������3��9����	��	�	�����	����6 
M��	������	��8!���	$��	;	���8�$��$���
������	�����������	����5���3��������53�����3$�	��	������
�5��� 3����
� �	�	��	����������� $��93
� 9������� 3�������� ����	�� �	�� �
�� ��3$�	���� 	���������
9!��������8	�9	
�	�����������9�������3���
9�������6�Ziyou ve ��<��� -'))'=�optimum sinyal 
süreleri ve 
������	� ��������������� $	����	��	��� �9�� �	�	��� 
������	� 
��������� 
�����������6�
>3��9���� �!�� 
3����� ��3$�	��	���� 	��������� 9!�����ün ����� 8	�9	
9�� �3��9���� �	��������
8!��	�������6 O��3�� -'))/�=� �	� O��3�� -'))/$=� 5������ 3������ 9������������ ���5����	� 53��
���������� 
������	� ��������� ��3$�	������ 9!������	� 	��������� 3����
� ���5��� 3��������53���
��3$�	����� �	� 	�	� ������ �	� $������� �3��9���� 	��	� 	�������6� ���33��33���N3�8� ve Waller 
-')()=�k������	��������������5���3��������53����	�������
����<�
���������3$�	��	������birlikte 
9!������� 8	�9	
�	����	$��	�� $��� �	�3�� !�	����� �	� ������� ������� ��	����	� �	��� 	�������6 
M��	������	��8!���	$��	;	���8�$���!��
3�������3$�	��	����	�������� 9!��������5����abilmesi 
���;�5��� <��
��� ��83����������� �	� �3�	��	���� 8	���������	����� �	� �	�<3�������������
�	�	��	�������	����� 8	�	
������� �9�
���6� ��� �	�	��	� 9��������� ���5��� 3��������53��� �	�
3������� $��� 
������	� ��������� ��3$�	��	������ $����
�	� 9!������� 8	�9	
�	����	bilen yeni bir 
�	�8��	��9!������83��������8	��������������6 
L���������� �
��;�� $!������	� ��3$�	�� <3������53���� �3���
�� $!����	� 8	�����rilen sezgisel 
9!���� ��83��������� �!����;ü $!����	� ��5����� �58��������� �	� �3�� $!����	� �3��9���� �	�
8	�	;	
�	�5�������������������9�����������	���������6 
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����
������	�����������	����5���optimizasyonu problemlerinin $��93
������	��	5	�$�����3������
ve ��3$�	�	� !�8�� ���9� <3�
��53������ belirlenebilmesi �9��� �	�8	� $�� �
����������
$��������� 8	�	
�	
�	���6� L�������� problemin 9!���ü �9��� �
�� �	��5	��� ��38��������
�	
������	�� <�5�������������6� 
��� �	��5	�	� ��� �3����� �	5����� ���	��� �	� 5�������
<3�
��53�������3���������9�<3�
��53��nun 	��
�9�
�	��	������9�����
	�������	��5	�	� ��	�

������	�����������	����5�����anl������$�����3����
��	�8	�$�� �
����������<�
���������3$�	������
9!����� ��	� $	����	�	$���	
�	���6� 
��� �	��5	� -
>=� ���9� <3�
��53��� �	�
�	�� -(=7�	�
�	���������6 
  


> ��� � - - � = - ==a a a a a a
y a A

Z(x, y ) t x y x g y� �
�

� ��          (1) 

 
  ��R) �a ay y a A	 	 
 �       (2) 

  ��� ��R ,m m m m M� � �	 	 
 �       (3) 
 
������@ ��R

ay , a a A
 � $������� ��
������ 
������	� ��������� 3����
� �	���������6� #5��;��
�	�
�	�� -'=7�	� �	���	�� 
����� $��� 5������� ����5	��	������ �3����� $��9	5�� �����������
�������
�����6� �	�
�	�� -%=� ��	� <��� 5	���� ���	�	������ ��
������ �	� �������� ���$��	;	���
�	�	��	���$	�����	
�	���6 
Alt seviyede -#>=�ise �	�8	�$����
������ �	�	��������
��������;���	�8	���-���=�5�
�������
�������� $	����	�	$���	
�	���6� _����3�� -(H0'=� $����;�� ��
	���	� 8!�	� �	����8�� $��� �-S� 9�<���
��������
�� ���� 
���������� �3�������� �	5����� ����5	��	��� 
���������5��� �3�������� �	5�����
����5	���	�	����5��������������6����5�
����������������;��	�����3��������

�������
	��	��
$��8�5	�������3������ve 	���������5	�����3��������	9�����
�$����5������
�����6�W	���	�
������!��

3������<��	�8	�9	���tam olarak 5��������� da, $��5�
�����������������<�
���������3$�	������

3��	
��3�������	�	��5�	����	������	���
9���	�;���	����	
�	���6��������<�
����������	�
�	��
-&=7�	 �	��������8�$���<��	�	���	$���	
�	���.  
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������@� ( , , )a a at w y � , a a A
 � $������� ����5	����� �	����� 	��	
�	� �	� #�	��
��� ����53������
���3��� -�2C=� ����<������ $	����	������ �	
��5�	 �	�
�	�� -H=7��� �	�������� 8�$�� �<��	 
edilmektedir. 
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A����	��5	����9�<3�
��53������
�������������$����3��� �	�
�	��-0=��	����8��$����-S�9�<���r-s 
��������� $������� �3�������
�� �3����� ���<�
� ��;������ ���	$	� 	���� 3������ 8	�	
������� �<��	�
	��	
�	@ Denklem (6) �	����8��$���$����
�����<�
���;������$��$����
���������3�������
�����<�
�
��;�������3��������	��� 3���������������8!��	��	
�	���6�#5��;� t����3������<�
���;���	������
�3����<��
� 
������ �	�
�	�� -I=7�	� �	����	
�	���6� Denklem (8) ise ���5����	� 
����
�����
�� <���
5	���� ���	�	��� ��	� 5	����	������� ���	�	���� �3�������� 
�������� �	��	� ���	���	� 	���� 3������
8	�	
��������<��	�	��	
�	���6  
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L��������� $��� 
������	� ��������� �	� ���5��� 3��������53�� ��3$�	��	������ $����
�	� 9!�����
���;�5��� �	�8��	�� �
�� �	��5	��� 9!���� ��83�������� 8	��������������6� S������ ����;� -S�#=�
��38�������� ������	� 
3������� 9!���� ��83����������� ���5����	� 53�� ������ ���� 
�����
�	���
	��	��� ���� �	��5	�	� $	����	���
	��� ���� $��� �
������� ���� �	��5	�	� SZ>"� (PTV AG, 
')(&= 5�������� ��	� $	����	�������. A	��������	�� ��83�������� �	�8��	�� #��3��� #�����������
�	
����� (AAT) 
�������������6� A		�� �	� ���6� -'))(=� ����<������ 8	��������	�� ##��� $���
3�
	������
�� �����5	��	���� 9����
����� �3������ ��	� ���3��
� �9����� 	�� �5�� �	�3������ 	��	�
edilmesi ��	���$��	� ��5����
�����6� ���� 3�
	������� ���� 3�
	����� 	�	����������� $��$���	��� ��	�
���3��
� �9����� �5����� $��� �	
���	� 9��������� ��	� 	�� 	��	��
� �	�3��5	� 5�
�������
	���
3��������53�� ���	;���	� 	�� �5�� 9!���� ���9� <3�
��53��� �	�	������ 8�3$��� 3�������� 8��	�	
�
yak���������3��;��	��	�	���	$���	
�	���. AAT sürecinde ���	���	�8��	����83�����������3������
gibi ilk olarak ba����8�9� �3�����53��� -���3��� $	��	��=� rastgele 3����������6� L���������
9!����� 5������� ��3$�	�	� !�8�� 3����
� �	���
	��	�� ��

��	� �������
� $�����8�9� popülasyonu 
V	
�� (7�	��	��������8�$��3����������
�����. 

 
 
 

y11 y12 .. .. .. y1n X11 X12 .. .. .. X1m 
y21 y22 .. .. .. y2n X21 X22 .. .. .. X2m 

 
           

yp1 yp2 .. .. .. ypn Xp1 Xp2 .. .. .. Xpm 

Vekil 1 ������8�9��3�����53�� 

������@ n ��������������
������	���������������5�$����������5�������m ���5����	�
����
�����
��
�3����� <��� ��5������� p ��	� �3�����53�� $�5�
������� �<��	� 	��	
�	���6� A	��������	�� �	�8��	��
algoritmada $�����8�9� �3�����53������ �	�� $��� ������, 
������	� ��������� �	� <��� 5	���� ���	�	���
�	���
	��	��nin ��
������ �	� �������� ��������� �9	������	� ����8	�	� 3����������6� >3���������
�3�����53�� $�5�
����� 
����� 3����������� 
����� �	���
	��	��� �	
�!��	��� SZ>"�� 5��������a 
�
���������	����<�
��������3�����9������������
��	�8	�$����
�������	��	�	�����6�*��	�	���	��$���
�
��������$����	5��������	�	����	�5�������<3�
��53���
����������
��	�
�	��-(=�5������5�������
�	
�!��	�� �9������9�<3�
��53���d	�	��	���	��	�	�����6�A	��������	����83�������� ���������V	
���
'7�	��	���������6 
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���'�#�83�������������� 
 
�	��� �	
�!���� 3������������� �9��� 
����� �	���
	��	��� iy�  ve i�� , i=1,2, …,h, $	���� $��� 3������
�
dahilinde mevcut  �3�����53���9���	������8	�	�3����
��	9���	
�	�5����9!����
��	����9���	��
�	9���	
�	���6� ����� �����5��� ##�� �����	��	��, #��3��� �	��	����� ��

��	� #���� G�����
-W�OC=�3����
��<��	�	�����6 >	9������	������������5����������	�
�	��-()=7�a �	���������, 
                  

� � � �
� � � �

1 2 3 1 2 3

��R ��� ��R

�� �� � � � � � � � � -)�(= W�OC

�� ) � �
�����
����	

i i i i i pi i i i pi
i i

i i i i i i i

y y y y y rnd
y

y y y

� � � � �
�

� � � �

� � �� � ��� � �� � 	�� �� � �
� � � �� � 	 	 � 	 	��

  (1)= 

 
��� ��������� �3����� �3�� �5������� ���	������ 8	�	
��� 3���� 3����������� $	����	��	��� �9��� �	��

����� �	���
	������ �	�	��	�������	��� 5������
�����6� ������ �	���
	��	��� �9��� $�� ���	�� Ton 
#5�������G�����-2#C=�3����
��<��	�	���	�������	��	���	��������
��8�$��5������
�����, 
 

 � � -)�(=j -)�(= 2#C
aksi takdirde

i i g
i i

i i

y rnd b rnd
y

y
�

�
�

��
�
��

� �� � 	
� �� �

� ��
     (11) 

 
������@ rnd-)�(= 3����
��	���	���<��	�-)-(=������������	���	������8	�	���5�5���	�����	��	
�	��bg 
��	� 
������;�5�� !�	�� $���� 8	�������� 3����
� 
���������
�����6� �	��� �	
�!�� ��	�����
�	�� sonra 
���9� <3�
��53��� $	����	��ekte �	� 	�	�� 5	��� �	
�!�� �3�����53�� �9���	
�� 	�� 
!��� �	
�!��	��
����� �5�� $��� �3��9��	��53�����3�����53���dahil edilmekte �	� 	��
!����	
�!���3�����53���� 
9�
������
�����6� >3�� 3����
� ��83��������� ������ 
3����nun ��������� ������������� 
3���3��
edilmektedir6� �3������ ������������� ����������� #���� %� ��	� 0� ��������
�� ���	��	�� ���	�	��

3������������;�5��5�����	���	����
��������	���53����5��������������;�5��kadar tekrar edilir.  
  

��,�
��
�,9���	� 
 

A	��������	�� ��83��������� �	��� 	����	��� ���;�5��� '&� ������� IP� $��� �	� 00'� �-S� 9�<��� 3����
>�3�R�F���������������� �	9�������	�V	
��� %7�	��	���������6����������	��	�	��� �	��-V matrisi 
���
��� -')(&=7�	�� ����������6� V	
���	�� 8!���	$��	;	��� 8�$�� 
	��
��� 9��8�� ��	� $	������	�� $������

W 

E 

���� 2 C�����/�D	���2������� 
����
������	�����������	�5	�������	� 

�	���
	��	���������8	�	���	� 
����	5	C�����/�D ������������� 

� ��
������
������	��������� 
� �	�������	����������	���
�������	�	��	�� 
� ��������<3�
��53�� 
� AAT parametreleri 
� �-V matrisi 
� �����	5�����<3�
��53��������	��	�	�� 

*�D 

$��>� 

SZ>"����	������	��5	���3$�	������	��$���9!�����	
�!���
�9���9!���	��	�8	�$����
���������$�� 

#��9�<3�
��53�� �	�	��	������	��$���9!�����	
�!����9���
Denklem (1) ile bul 

���� 3 ����	����,�2�	������������� 
�	�
�	��-()=��	�-((=7��
��������
�5	����	
�!���3������ 

���� 4 ���2��������	
/2�
��������� 

�	����	
�!���	��
!�����	�5	��
�	������ 

����	) 
Durma kriteri  
�����������[ 

E 

SZ>"����	������	��5	���3$�	�����5	����	
�!���9���9!���	�
�	�
�	��-(=���	����9�<3�
��53����	�	������	����� 

�	���9!�����	
�!���
�3�����53���9���	
��	��

!����	
�!��	���5� ��[ 

W 

�
�




������	� ����������� ���5� $������ 3���� $����� ara�����
�� 
35�� 3����
� $	������	�� ������	� 
���5����	�
����
�3����
��	9��������6�&�0�H��	�(&��3���
����
����%�<���������	��	���&�<�����3����
�
���	��	�������6� ���� �	5����� ����5	�� <3�
��53�u 3����
� �	�
�	�� -H=7��� �	���	�� <3�
��53��

�������������6� 
 

 
V	
���%�>�3�R�F��������������� 

 
>�3�R�F���������������� �9���
����������ü��� �	��5	����9� <3�
��53��� ���	������	��5�����3����
�
�	�
�	�� -('=7�	� �	���������6� F��� 5	��l ���	� �������� �	� ��
������ �	�	��	��� I� �	� &)� ����
5	����	������� ���	� ��	� 0� ��� 3����
� �	9������ �	� �	��	� ���	�	��� $���� $����� 3����
� �	� bir sinyal 
9!���� �	
�!��� �9��� $	����	�������6� ��
������ 
������	� ��������� ��	� ')� 3����
� �	9���������
-���
����')(&=6 

2��� � � - - � = )6))( =a a a a a ay a
Z(x y ) t x y x d y�

�

� ��
A

       (12) 

            ��R) �a ay a Ay	 	 
 �         (13) 
��� ��R ,m m m m M� � �	 	 
 �         (14) 

1 2 

3 4 5 6 

9 8 I 

12 11 10 16 18 

(I 

14 15 19 

23 22 

13 24 21 ') 

3 

1 

2 5 4 14 

8 

6 

11 

9 

15 

12 

13 23 16 19 

21 

24 

(I 

') 
I 35 () 31 

25 26 22 &I 18 54 

33 

36 

'I 

32 

48 

29 

55 

0) 

%) 
51 49 52 

34 &) 28 43 

53 58 

42 I( 46 PI 

59 61 

56 P) 

I% IP 69 65 68 
63 

%I 38 
41 

44 

0I 

45 

I' 

I) 

I& 

39 

66 

I0 

62 

64 

�





#��� �	��5	� ��3$�	��� 3����
� �<��	� 	���	�� ���� ���<�
� ������ ��3$�	��� SZ>"�� 5�������� ��	�
9!���������6�t. ��	���53�������3���$	��	����9���	
��	���5�����9�<3���53����	�	�����	�3��������
�	�	�� ��������
�� 8!�	�� �������� )6))(7�	�� 
�9�
� 3������ ���������� ��83������
�3���������������6� W�OC�� 2#C� �	� p p����	��	�	��� )6H)�� )6&)� �	� ()� 3����
� �	9��������6�
U�	���	�� ��83��������� >�3�R� F����� ������� ������ �58��������� �	��;	����	� 	��	� 	���	�� ���9�
<3�
��53���5�
�������8��<����V	
���&7�	��	���������6 

 
V	
���&�>�3�R�F���������5�
�������8��<��� 

A	��������	�� ��83��������� 9�������������� �	��;	����	� �	���	�� ������ 
���	��� /0)6� iterasyonda 
���������� �	� ��83������ �3���������������. #�83��������� $�����8�9� $	��	����� 3���������������
sonra elde ed��	�� 	�� �5�� �	� 3�������� �	�	��	�� 5�
����
 (P)� �	� '')� �
	�� !�	���
�	� ��
� &))�
��	���53�� �3������ ##�7���� 3�	���!��	��� ��5	����	� !�	��� $��� �5��	��	� ������������6� /0)�
��	���53�� �3������ ���9� <3�
��53��� �	�	��� 5�
����
� ('I� 3����
� 	��	� 	������� �	� $�����8�9�
�	�	���	� 8!�	� 5�
����
� J ')� �5��	��	� 	��	� 	���������6 Elde edilen o������� $��� 
������	�
���������	�	��	�����$�3�(7�	��	���������6  

��$�3�(�����
������	������������ 

���� 
No ya   

���� 
No ya  

9 8.29 27 %6I' 
11 )6)) 32 I6II 
13 1.63 34 10.47 
23 )6'H 40 8.84 
25 11.52 28 1.94 
26 6.16 43 1.36 
10 )6)) 44 '60I 
31 &6)0 41 '6P) 

 
L!���� �3������ 	�� <����� 
������	� ������������ ����� �	�<3������� �9�������� H� �	� ()� �3���

����
���� ��������
�� '0� �3��� $��� ��	� ((� �	� (&� �3��� 
����
���� ��������
�� %&� �3��� $�����
5������������ �58��� 3��;���� $	����	�������6� #5��;�� 
������	� ��������� ���5� 3���� $������
a�������
�� ���5����	� 
����
�����
�� 3������� ���5��� ���	�	��� $	����	����� �	� ��$�3� '7�	�
�	���������6� *��	� 	���	�� �	�8	� $��� �
������� ��	� ��$�3� %7�	� �	���������6� #5��;�� 
������	�
��������������5�$���������	�8	��
���������$�3�%7�	�
35��3����
�$	������������6 

(')

(&)

(P)

(/)

'))

'')

'&)

) ()) ')) %)) &)) 0)) P)) I)) /))
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�

En iyi
G�������

�
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Tablo '�G����������5������	�	�� 

�����
� 
No 

Devre  
süresi 
(sn) 

Faz  
No 

�	����
$�����8�9 

(sn) 

�	����
$���� 
(sn) 

�����
� 
No 

Devre  
süresi 
(sn) 

Faz  
No 

�	����
$�����8�9 

(sn) 

�	����
$���� 
(sn) 

4 
 

113 
1 ) &) 

10 
 

I0 
 

1 ) 13 
2 45 66 2 18 25 
3 I( ()/ 3 %) 53 

5 
 

94 
1 ) (I 4 58 I) 
2 22 62 

11 
 

144 
 

1 ) &) 
3 PI 89 2 45 61 

9 
 

0) 
1 ) (I 3 66 ()P 
2 22 29 4 111 139 
3 34 45 

15 ()) 
1 ) 18 

14 42 
1 ) 13 2 23 44 
2 18 25 3 49 62 
3 %) %I 4 PI 95 

 
Tablo 3 �	�8	�$����
������� 

����
No 

W�;�� 
(()3 ��+��= 

����
No 

W�;�� 
(()3 ��+��) 

����
No 

W�;�� 
(()3 ��+��) 

1 5.85 27 24.30 53 9.64 
2 8.42 28 20.60 54 (I6&) 
3 &6I% 29 11.2) 55 22.2) 
4 I6/% 30 8.64 56 22.3) 
5 9.54 05 9.81 57 16.5) 
6 (%6I) 32 18.10 58 11.3) 
7 146)) 33 9.3 59 ()6&) 
8 (I60) 34 15.30 60 23.1) 
9 20.40 35 11.3) 61 8.81 

5$ 4.17 36 12.5) 62 I6PH 
55 18.70 37 15.8) 63 8.51 
12 9.2) 38 16.5) 64 I6&& 
50 18.50 39 126)) 65 9.66 
14 P6I( 40 11.60 66 ()6/) 
15 11.4) 45 8.03 67 22.5) 
16 14.1) 42 I6H/ 68 I6/P 
17 13.5) 43 21.30 69 8.31 
18 ')6%) 44 8.00 70 11.4) 
19 15.2) 45 19.8) 71 4.26 
20 16.4) 46 18.5) 72 9.43 
21 3.42 47 /6I/ 73 9.25 
22 9.96 48 16.9) 74 12.6) 
23 14.60 49 11.8) 75 11.9) 
24 /60I 50 18.5) 76 I6&H 
#) 18.40 51 H6I/  
26 19.80 52 12.4)  

 

��$�3� '7�	�� 8!���	$��	;	��� 8�$�� 	�� 5�
�	
� �	��	� ���	�	��� &� �	� ((� �3��� 
����
������ 	��	�
	���������6�Ancak $���	�	��	����
����
�<�����5�8����������$�����3����
��	���	$��	;	����9�
���6�
#5��;�� $�� 9��������� ���� ���5����	� 
����
���� ��3�	� 3����
� �	�	��	����������ir. �����
������

33����	�3����
����	��	�����3�����������������3��9������<��
���3��;�����	�$����������8!��
!���	��������
����5����	����������������5���������8	�	
��������������������6� 
 
  

�
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���9���������$���
������	�����������	����5���3��������53�����3$�	��	������	���������9!�����
���;�5����
���	��5	����	�8��	����83������8	��������������6�
����	��5	�	��3���������	5��������	���
�	�5�������<3�
��53�������3���������9�<3�
��53������	� 
�9�
�	��	������;�5���##�7den 
<�5�������������6��������<�
��������������	��5	���3$�	���3����
��<��	�	��������	�9!�����9���
SZ>"�� 5��������
�������������6�A	��������	�� ��83������S�#���38��������������	�
3��������
�	��	���	����	������;�5���>�3�R�F�������������������58����������6�*��	�	���	���3��9�������5���
3��������53��� �	� $��� 
������	� ��������� ��3$�	��	������ 	��������� 9!������	� 8	��������	��
��83���������
��������$��	;	�����8!��	�������6 

3�����"� 

SZ>"�� (&� 5����������� �
��	��
� 3����
� 
����������� �����5��� 2lanung Transport Verkehr 
(PTV) #A75	��	�	

���	�	���6�� 

7/c
 ���
,�� 
A   �������
��	�� 

rsK  �-S�9�<�� SsRrrs ��
 , ��������
���3������
��	�� 
R  ������8�9�
��	��  
S  S�����
��	�� 
M Faz kümesi, m M
 �  
N �������	���������������5�$������
��	��, n N
 �  
L >��5����	�
����
����
��	��, l L
 �  

( , )� ��  >��5����	���
	��	�� 
D  �-S����	��	����	
�!��, �  SsRrDrs ��
� ,D  
[  C3����
��������	
�!��, �  rs

rs
k KkSsRrf ���
� ,,,[  

�  �����	5��������	�	����	
�!��, �  Aayxt aaa �
� ),(�  
x  �	�8	�$����
��������	
�!��, �  Aaxa �
� ,x  
y  ����
������	�8	����	��	��	
�!��, �  Aaya �
� ,y  
��  �	�������	��	
�!�� 

ad  ����5	��
����5���, Aa �
   

a�  ����
������	��, Aa �
  
 Z 
����	��5	����9�<3�
��53�� 
 z #����	��5	����9�<3�
��53�� 
 I �	����	����������	 
�  ������������5	����	���	5��������	���	��!������<�
�!�� 

( )a ag y  ��������<3�
��53��, Aa �
   
rs

ka ,
  ���-�3���$	����	�	����������	���
	��, , ,rsr R s S, k K a A
 � � � � .  

a� , a�  ��������5	��<3�
��53��������	��	�	��, Aa �
  
min�  ��������5	�������	 
��R�  ��
������5	�������	 
l�  Devre süresi, l L
 �   

h Üst seviye 
������	���
	��	��nin �3�������5��� 
p Popülasyon $�5�
���� -���3���$	��	��= 
u ��
��������	���53����5��� 

�
�
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#$�������� �6� ���� M	����;�� M6� -(HIH=� O3�����3��� 	·����$����� �	�N3�
� �	��8�� �3�	��6�
������3�����3��C	�	��;��2�����

#���3���C6�E. and O����	�N3�����`6�#6�-(HII=����<<�;��������8���-;3���3��	���3����	�N3�
,����
	R����	�3<���<<	�	�����8���������8����;�����8���<<	�	����3����8�6�

, 13, pp. 19-32. 

���<<�;�*�8��		���8�O3���3�

���
��, U6� -')(%�=� ����	���������� "������ #�� �������� 2�3$�	������ ��<	�����5	�� A	������
#�83����������	�L!����, 

, 
18(5), pp. 262-264. 
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